value

15-

1.0-

0.5-

PC.ae.C42.1
Ftrimmed—means(2-57,571-56) =,p= NA, SAKP

R-avg

=0.29, Clgs, [003, 053], Npairs = 371

P Bonferroni-corrected = 0.017

pBohferroni—corrected =0.001

P Bonferroni-corrected = 2-61€—-05

P Bonferroni-corrected = 2.22e-08

pBolnferroni—corrected =0.001

P Bonferroni-corrected = 5.78e-05 |

ﬁtrimmed =0.37

ﬁtrimmed =0.37

ﬁtrimmed =0.30

age2

agel

agéo
(n=371) (n=187) (n=52)
age

Pairwise test: Yuen's trimmed means test

agés
(n=207)

=15
@
-10<
L
c
(¢]
ﬁtrimmed =0.47 -0.5

ﬁtrimmed =0.39

agé4
(n = 207)

; Comparisons shown: only significant



